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(A) BBNIZ LB HA00KN/ MEBZ ZRBOBHOADBRKBEKN/M)  (B) #ESHImERZ R EOHEED N OB KIEKN/ ) prop= = Y =g
(B) (MBS UEHEEMIHERT HEDLREDES(m) (F) EN LZREM AT IBEDLREDES(m) ETFEAR AT TE it ML\ ERTE SR
(C) BBENZ LB H1AV100kN/ mi LU F D K I DI END 11 DB A BN/ ) (G) B AIMUT ORI O HEFED 51 DBAEKN/m) P ]
D) CONLZREMERTIEEDLEZEDZE(m) H) QP LZEEYERTIEEDLEENDSZS(m)
HETHLIYFTEOLEZENDHOREE SESHBRND T BEEN HOREE
RHES i
(A) (B) () (D) (E) (F) (G) (H) (A) (B) (©) (D) (E) (F) (G) (H)
(1) 135.7 1.0 99.8 1.0 - - 12.2 2.4 134.1 1.0 96.7 1.0 - - 12.2 24
(2) 136.0 1.0 100.0 1.0 - - 13.7 2.7 134.1 1.0 96.9 1.0 - - 13.2 2.6
( 3) 1413 10 98.9 10 - - 14.9 30 139.1 10 988 1.0 - - 140 28
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